S(:o.lzfonarj Poiifan f : Answe.r:
tzq)_ 3 - x4+ 3x°-9x - 13
q) dy = 3x +bx — 9 = at SFP%
d'p 2z
x +2x -3 =0
(x +3)(x*l) =0
aH«u 2¢+3 =0 or e B2
x = -3 = |
J N
= (3)+3(-8) - 9(3)-13 y= ®+3(0%) - 90 )13
y= -a7+aT+a1-83 y = | +3-9-13
U = Iy :j = —18
(-3,1?4) (1,-12)
C"“S,“{—) '
(,-18)
J’L\‘j = 694:4—6
dx* 1% = ofi) » b
2 dx*
dy = 6(-3)+6 < +1z
dxz
o LocAL MAX
‘)
(-Silu) ™ |

(|J-13)

t’—) Curve crosses z axis {5

S0 3 el ok

=-0) in 3 plaes .



IBCD (J = xs— 3+ 32 +5
a) Q = 3xt—61 +3 = O O)L SP{S'
o

e =Andl =6

Cx—l)(fx—') =0

x-1=0
e = | oné I &F

ﬂ = [3— 3(:1)-;-36) +3

= I ~34¢348
50t

B,

b) ng = 636—6

dy = 6(1) -6
dx*
= 0

L Bt of ffgffec/f"on at (. ’/Q



131) Y =~ bx*t 20

L a)  dy = 3x™-12%

—

= O af SP’s
dx
:xq-l,tx =0
x (x-4) =0

either oc=0

=y
y = 0 -4(6%)+20 Y

dx*
d’v = 0-12 o d% = 6(4)-12
d?—t ok : i 4 dx"' .

| S . = 417
Loca MAX. LocAL  min

- (0125)\ .

(q,—n)




C‘) Cur\fﬁ CrOSSea X AXas (3:0) n 3 P’am ’
e S 3 dishiad tooks for  egn

2’-bx* 20 = O

There will be 3 distinedd  answes  oblamned an ,cn3 o

-t2 < k ¢« 20 as can be Seen frvm Jo;%gd Aorizomla.L

lres on  Fhe 3(&{)‘1.

131> 3=‘2L3c—67c1—3
é‘_d_ - 3x -6 =0 af SP's
dx 2
-12 = O
x'-4 = O
@,-—2)(9C+1) = &)
either x-2=0 of x+2 =0
%= L x= -2
v Y
3:%(2)-6[1)1»3 5:%(——2) ——la(-2) +3
y= 41243 i
y = -5 Y -4 +12 +3

_4?;9_ = 31:

dx*

Al =2 xa =32
d*y = 6(2) d% < 6(-2)
) o o= - 12

2 s @,-s) LD CAL (-2,@ LOCAL

MiN MAX .



